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o U gy @ gav &7 @ g7 98 GARET a7 & B geru g T &8 & G0N ¥ ST 59
T & 3 oy qrar @ T8 B T :
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&
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(viii) PTFAST F ITAT AT 81

General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)

(ii)

(i)

- (i)

2631

()
(vi)

(vii)

This question paper contains flve Sections : A, B, C, D and E. Each Section
is compulsory. However, there are internal choices in some questions.

Section 'A' has 10 MCQ's, 8 Objective Type Question and 2 Assertion-
Reason based questions of 1 mark each. '

Section 'B' has 5 Very Short Answer (VSA) type questions of 2 marks each.
Section 'C' has 6 Short Answer (SA) type questions of 3 marks each.
Section 'D' has 4 Long Answer (LA) type questions of 5 marks each.

Section 'E' has 3 source based/case based question 4 marks each with
sub-parts. '

There is no overall choice. However, an internal choice has been provided
in 2 questions in Section B, 2 questions in Section 'C’, 2 questions in
Section 'D'. '

(viti) Use of calculator is not pem_iitted.
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SECTION - A

R aegie 494 & & 4 -

Answer the following objective type questions :

1. I A=3,5 7,9, 11}, B={7, 9, 11, 138}, C = {11, 13, 15} &R D = {15, 17}, T

3.

2631

(Au D) (BU Q) B : | 3
(A) {3,5,9 B) {7, 11, 15}
©) {7,9,11, 15} D) ¢

fA={3,5 7,9 11}, B={7,9,11, 13}, C={11, 13, 15} and D = {15, 17}, find
(AuDn(Bu(O:

(A) {3,5, 9 (B) {7, 11, 15}

(C) {7,9;11,15} D) ¢

% U={1,2,3,4,5,6,7,8,9;A={(1,2,3,4,B=1{2,4,6, 8 X C={3, 4, 5, 6},

a9 (B- O & : 1
(A) “{1,3,4,5,6, 7, 9} 'B) {1,4,7,8,9
(C) {3,4,6,8; (D) {2,4,5,6,7, 8}

Let U={1,2,3,4,5,6,7,8,9:A={1,2,3,4,, B={2,4,6,8 and C={3, 4, 5, 6},
find (B-0O": '

(A) {1,3,4,5,6,7,9 (B) {1,4,7,8,9

C) {8,4,6,8 (D) {2,4,5,6,7, 8}

oM @R A= {x, y, 2 @R B={1,2}, T™WAY BD gael i g el 1
(A) 6 ' (B) 9 o

(C) 24 (D) 64

Let A={x, y, 2 and B= {1, 2}, then nuﬁnber. of rela‘ﬁions from A into B will be :
A) 6 (B) 9 | '
(C) <24, | (D) 64

PETICE
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(A) 98 =gt

; : (B) f&dm =qgafer
(C) T =gata (D) =g gt

In which quadrant do the angle —~1930° lje -

(A) 1st quadrant (B) 2nd quadrant

(C} 3rd quadrant (D) 4th quadrant

(5-3i)° B a+ib®P BY T aaq BT :

(A) O+ 0i (B) -10 + 198i
(C) 10 - 198i (D) -10 - 198i
Write (5-3i)% in the form of a + ib :

(A) 0 +0i (B) -10 + 198i
(C) 10~ 198i (©) -10-198i

ueh Brgst @ gaQ a9 gon wed O g # AW T aw Bee & ded o ged ad
T W 2 AW FH o WA g H GAGH dag Fa S s&is s H 9RE

61 & 2 i
(A) o (B) 6 &
© 4 & (D) 10¥f

The longest side of a triangle is 3 times the shortest side and jche third side is
2 cm shorter than the longest side. If the perimc.zter of the triangle is atleast
61 cm. Find the minimum length of the shortest side :

(C) 4 cm (D) - 10 om

I np5=42nP3,n>4,E?fn$|'W%3 : , 1

(A) 10 (B) 6
© © o
If nps -42"py, n> 4, the value of nis :

Ao s, (B) 6
(C) 0 a . ('D) 1
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10.
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(5)
X 7 <
[—S—-s_yj % faug yg & 591 9T S1d Hifm

(A) 105x*y3 @) 105x°y*

(C) 105xy® (D) 105x%y

: 7
Find 5th term in binomial expansion of [% - Syj :

(A) 105x%y3 B) 105x3y?
(C) 105xy® (D) 105x%y
i 4 3 1
OB~ = el d ?
3’ 9°.27 # B 19683%
(A) 7d B) 53
© oFf (D) 4dt
Which rm ot B P ey = =y versian PR G
| 3" 9" a7 19683
(&) 7th Bt (B) 5th
(C). - 9th i . (D) 4th

A AP.59,18, 17, .. H 17 T H W13 T ¢
(8) 629 | | (B) 529

(C) 615 | ‘ ®) o

Find the sum of 17 terms of the A. P. 5, 9, 13, 17, ........ :

(A) 629 , | (B) 529

© 615 PR s s oD
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A et fam e & gl 3 e g o iR A g 8 an S ¥, @ fEE
T 5 Hifergy |

If A. M. and G. M. of roots of a quadratic equation are 8 and 5, respectively:
then obtain the quadratic equation.

a"ldq_?r——ﬂ— 1(a>b) ¥ P &1 gdwor B L

Write equation of directrix of an elhpse _— - y—2 =1(a>b).

a2

!
lim
x—0 X

=P 1

)
x—0 X

cosec x F ITFHaS] ST o - 1

Find the derivative of cosec x.

TEE n M SIS H A Hd ] | | | 1

Find the mean of first n natural numbers.

U Q@ P BH I 8, 3 ¥ B HE&AT W P MAHA G it 1
A die is thrown, find the probability that a number less than 3 will appear

ST g1 8 X Wi 1 e 7 ‘ 1

If an event is impossible, then what will be its probability ?

P(A]-—ai‘fc P[B)~— R T 2 qﬁAaﬂTBwamﬁﬁﬁm% @ MA or B)
Eﬂ?r?ﬁﬁm | 1
Given P{A):—- and P(B)=, find PlAor B, if Aand Bare mutually exclusive
‘events. '

S
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ARFTT (A) : AR (4x+ 3,4y =(Bx+5,-2), 8 x=23qy=-2 1
T (R): AR A={1,3,4,WAxAT{-1,-1), (-1, 3), -1, 4), (3, -1), (4, -1), (3, 4)}
(A) (A) & &, (R) &9 B; (R), (A) B & e
(B) (A) ¥ %, (R) 99 ¥; (R), (A) # ¥ =wer 7@t @

(C) (A) ¥ %, (R) ¥H &

(D) (A) 3HF B, (R) 94

Assertion (A): If (4x+ 3, y) = (3x+ 5, -2), then x=2 and y = -2

Reason (R): If A= {1, 3, 4}, thén A x Ais {-1, -1),.(-1, 3), (-1, 4), (3, ;1],
(4: h'l)a (3& 4]}

(A) (A) is true, (R) is true; (R) is correct explanation of (A)
(B) (A)isitrue, (R) is true; (R) is not a correct explanation of (A)
(C) (A)is true, (R) is false

(D) (A)is fals;,_ {R) is true

W(A{:mo@rwmﬁﬁamemwl 1
T (R) @ S-S G B GARANG W FY==T Fed ol

(A) (A) &F ¥, (R) T4 & (R),(A)aﬁaaw% |

(B) (A)m%,(R)am%;(R),(A)aﬁatﬁm:ra% gk

(C) (A) & B, (R) 916 ©

D) () s ¥, (R) B

P.T.O.
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22.

2631

(8) 2631

Assertion (A) : The collection of all natural numbers less than 100 is a set.
Reason (R) : A set is a well defined collection of the distinct objects.

(A) (A) is true, (R) is true; (R) is correct explanation of (A)

(Bl (A) is true, (R) is true; (R) is not a correct explanation of (A)

(C) (A)is true, (R) is false

(D) (A) is false, (R) is true

gs-g
SECTION - B
frafefaa # & wo% & i Suga a9 oM@ G 2
(i) (Avu B (i) A'NB '
" Draw appropriate Venn diagram for each of following :
i) AuvuB (i) A'nB'
& B ' 2
| —x%+x-2=0 |
Solve : _ '
—x%4+x-2=0
e
OR
A B ' 2
T Y] (= )
Zritl+lg+i=||-—=1
[ *‘3)+(.+‘3H [3
Simplify : ;
1 usdft ok =
e 14 B +l]
L[sﬂs) ( HS]] (3
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24.

25.

26.
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EREC T 2
5—‘2xs_)_c"_5
3 6
Solve :
5—2x5£_5
35 6
3 3 3069
gvhm%uﬂs,a,z, ........ %ﬁmﬁwmm%aﬁmwmﬁm?z
How many terms of the G. P. 3, E, -i-);—, ........ are needed to give the sum
3069 5
512

WEAd F G S v, S o (0, 0), (2, 3) ¥ T ¥ SR oW - B
e B 2

Find the equation of parabola with vertex at the origin, passing through (2, 3)
and axis along x-axis. '

SYar
. OR .
R 0 W 12 = —16y B AN $ MRS qur P & afeer S S 2
Find the coordinates of focus and equation of directrix of parabola x% =-16y.

quE-7 .
SECTION-C

65 A & TEE A 40 B Brde THT B, 10 BT 7 g AFl # T FQ 8 TART

Rra e 3w qde a0 B, B 98 qur R R TR FRA 2 7 3

In a group of 65 people, 40 like cricket, 10 like _bbth cricket and tennis. How
many like tennis only and not cricket ? How many like tennis ? :

a0
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28.

29,
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WWﬂx)=h|x|wmemmeﬂwmaﬁﬂﬁ

x=-57% 3
Find domain and range of real function flx) = —|x |. Also find value of function
at x=-9.
TR S & e & sar B e S 3
1 2
I# 3 #I*onn +n<§(2n+1)
SEfh Vne N

Using principle of mathematical induction, prove that foralln e N:

1 # D8 F e +n< = (2n+1)>2
E |
OR
TR ST % R @& S w1 e Hi 3
{802 puipe s Sps Ay BER - En )

3

fafh YV ne N

Prove the following by using the principle of mathematical induction, for
allne N: _

L os2ast g ol B el IO
3
x 7 9% 7 51 Fpw s fiw /g (x, -1), 2, 1) 9K (4, 5) W @ F & 3

Find the value of x for which the points (x, 1), (2, 1) and (4, 5) are collinear.
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(11)
B HY limlf(x)airf?s:
xX—
flx) = x% =1 ; X=1
i ] .- A

Find : lim f(x) where :

x—1

2
flx) = x2—1 ; sl
-~X =1 , x>l
HYTT
OR

(5x> +3x —1)(x — 1) FT IFFFT I BT

Find the derivative of [Sx:f’ +3x-1)(x-1).

3l. IR EARFA G 9% & & P(ET=%,_P[F}=% R ﬁEGﬁTP):é-,

2631

qART

() PETAH
(i) PETE R P

A I
If Eand Fare events such that P(E)= %,_ P(F) =% and PE and P=—,

find :
() PEorF
(ii Pnot E and not F)

2631

P 0,
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SECTION-D

32. g T : 2+3=5

33.

34.

| 2631

(i) cosd4x=1 ~8sin? xcos? x

(ii) cos? 2x —cos? 6x = sin4xsin8x
Prove that :

(i) cos4x=1-8 sin? x cos? x

(ii) cos? 2x —cos? 6x = sin4xsin8x

faqe T F A A G (@+b)t —(a-b)* B} 5@ B (J§+J§)4—(J§—J§)4

- T AE FT T 5

Using  binomial theorem, find (a+ b)4 —(a- b]q. Hence  evaluate
(V3 ++2) -(V3-+2f.

34T
38 8, 88, 888, 8888, .......... 3 n T F AT T FW 5
Find the sum of n terms of the sequence 8, 88, 888, 8888, .......... .

A PORS ¥ P2, 1), O-2, 3) 3K R4, 5) ¥l S R, Q& o archt =ifeaan i Wit
#Id B 5

The vertices of a A PQR are P2, 1), Q(-2, 3) and R(4, 5). Find equation of the
median through the vertex Rand Q. '
Ydr

OR

2 gt Tl 15x+ 8y - 34 = 0 3R 15x+ 8y + 31 =0 % &= H T a1 M@ 5
Find the distance between the parallel lines 15x + 8y - 34 = 0 and

 15x+8y+ 31 =0,



35. ﬁ%@aa‘ﬁ@%mwﬁwmzﬁﬁq

(13)

X; 8 13 18 23
fi 10 15 10 6
Calculate standard deviation for the following data
X 8 13 18 23
fi 10 15 10 6
gus -&
SECTION - E
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36. T Rifew s 0% o aveER g & AT @ EW R T 9 96 10 o

2631

I\Eﬁﬁiﬁlaﬁ'{%:
() S srvempR 9% R ¥ REr T ¥ SHer gHieT R 8 ?
() %aﬁmgaégaﬁﬁﬁzmqm:ﬁ

=IST 81 MR W R 3% W 3 do a1 B

4

P T1.0;
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A civil engineer is given a work of renovating a semi-elliptical bridge, This
bridge is 10 m wide at the base and 3 m high at the centre.

=

‘: “E- o e ; 2 bh's

Answer the following questions :

(i) What could be the equation of the elliptical curve showing in the figure ?

(i) At what distance from the centre, the height of the bridge would be 2 m ?

37. UH Pig 3 Raaifedl & g ¥ W@ ¥ o= Y@ f Reedl A ¥ 5 9T ¥ 4 9% @

q, Raarst B, 4 9ife & 3 g AT @ gar @ IR RaarEl ¢, 3 gifte # 2 9 e
T Fhell B ;4 4

,,,,,

%ﬂﬁuﬁ%ﬁﬁﬁmﬁmmﬂﬁm i
() s B A, B AR C @ & Mm@ _ -
(i) samaa%mﬁmﬁsaeﬂ'{caﬁrﬁamaﬁthwmaﬁl

S

2631
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A coach is training 3 players. He observes that the player A can hit a target 4

times in 5 shots, player B can hit 3 times in 4 shots and the player C can hit 2
times in 3 shots.

R - ’M
b < W ,

L

From this situation answer the following questions :
() Probability that A, B and C all will hit target.
(i) What is probability that B, C will hit and A will lose ?

38. @ﬂﬁwsﬂmﬁ{q@%ﬁsﬁéﬁwwwmmwm e &
WWWWW#WW&WBW% %lﬂﬁcoseca=ﬁ~3—ﬂ?

sec B = 2@| 4

I PR

S U B G AN ¢ T

(i) sec o % AW FM EAM 7 ‘ ;

(ii) 2T B 7 e HIY B 7 \ | s

(iii) tan o % A T BN 7 : , |
2631 ¢ | . | P.T.O..
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A submarine is moving in such a way that at a particular moment of time 1ts
angle of elevation for two ships, situated at different positions on the surface of

water is o and p respectively, if cosec a = J3 and sec p = 2.

Answer the following questions :
(i) What will be the value of sec a ?
(i) What will be the measure of the angle B '9 | L

(i) What will be the value tan o ?

2631




